
CD-Ass01

4

16

17

T

T

T

T A A

A

A

1 x1 2 x1 3 x1 4 x2 5 x2 6 x2 7 x1

8 x1 9 x1 10 x1

A x39 B x14 C x19

D x1 E x4 F x2 G x2 H x24 J x4T x8

11 x3 12 x2 13 x6 14 x3

15 x1 16 x2 17 x2 18 x2

M6X45

M6X65

M6X35 M6X45

1

2

3

4
4

55

66 7

8
9

11

11

11

12

12

13

14

14

14

15

16

17

5

T
T

5

T
T

CONTACT US：

@Teraves2019

www.teraveshome.com 

support@teraveshome.com

Model:
V2.0



Locked!

2

6

6

3
7

F
F

H

H

Installation tips：
1. Please distinguish all parts according to the instruction before assembly.
2. Take note that screws can't be tightened until finishing the whole assembling.

A

A
C
C

C
C C

C
C

GCover the holes with Part  .
Rotate the arrow point to 
the hole on the side.

1-1 1-2

2-1

2-3

2-2

F

G

1

B B B B

4
4

8

910

A

A A

A

A

A

B

B

B

B

B

B BB

Fill the remaining 
holes with

G
F

Rotate part   clockwise by 180 
degrees to lock part   firmly.

F GGet Part   and   connected:

Use screw   only to tighten the board,
avoiding the board being ruined.

B

The book stand can be used independently.Two installation methods 
are provided to meet your different needs.

Program 1

Program 2

3-1

3-4

3-2 3-3

1313

13 13

13 13

16 16

17
17

A
A

A

A

A

A

A
A

A

A

A

A

screw hole 
face outwards.

A

A
A

A

A

A

A

A

A
A14

14

14

15

C

C

C

C C

C

11

12

12

11

11

B

B

B B

B

B

18

Drill holes on the wall with a
impact drill and 8mm drill bit.

16

E C

4.

A

A
D

A

A
D

The bookshelf can be used independently,and be sure to 
use   and   to fix it on the wall to prevent it falling down.18 C

Bookshelves and desk can be used in combination, and they can 
be reversible assembly to meet different usage requirements. 


